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1. Which option do you support? Please differentiate between different IBORs if views differ.

We strongly encourage you to limit your response to the options listed in I and Il above.
However, if you strongly prefer a different option, please explain that and explain why you

prefer it over the options above.
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3. Is consistency across IBORs important? Is it critical, very important, somewhat important or
not important at all? Please explain.
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4.  Which is more important to you — your top preference or consistency across IBORs

(assuming you could not have both)? Please explain.
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5. Should the transitional period described above be included in the spread adjustment?
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6. Should outliers be excluded? Please explain the rationale for your answer.

Bz L (K7 av 1 2583 57-0),

7. If outliers were to be excluded, to what extent should the data be trimmed?
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8. If negative spreads have been historically observed for an IBOR/RFR pair, are there

compelling reasons to exclude such observations from the calculation of the spread

adjustment? If so, what are they?
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9. Negative spreads can be prevalent for some IBORs. If negative spreads have occurred
frequently enough that the spread adjustment is itself negative, are there compelling reasons

to not implement a negative spread adjustment?
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10. Is it necessary to apply a backward-shift, lockout or similar adjustment to avoid making
payments on the same date as the date on which the fallback rate is known? Please note in

particular if you would not be able to transact without an adjustment.
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11. Ifan adjustment is necessary, do you support using a two-Banking Day backward-shift, a two-

Banking Day lockout or a different adjustment? Please explain your answer.
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12. Which cities should apply for the purposes of the two-Banking Day backward-shift or lockout?
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13. Would either option be problematic or would you be able to transact if either option were

implemented for derivatives fallbacks? Please explain.
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14. For what products would a two-Banking Day backward shift or lockout not work? Is there any

way to address the problems using the “compounded in arrears rate”?
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15. s it problematic to use the Calculation Period instead of the IBOR period?
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16. Is two Banking Days the correct length of time for a backward shift or lockout? If

not, what is the correct length of time?
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